
2 1345678

2 1345678

A

B

C

D

E

F

A

B

C

D

E

F
THE INFORMATION CONTAINED IN THIS DRAWING IS
THE SOLE PROPERTY OF HARDWARE RESOURCES
INC.  ANY REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PREMISSION OF HARDWARE
RESOURCES INC. IS PROHIBITED.

BILL OF MATERIALS TABLE

ITEM PART NUMBER DESCRIPTION QTY NOTES

1 BSBM8 BASE SLIDE BOX MECHANISM, WIDTH 8 1

2 PWB-8--- PANTRY WOODEN BOX, 8---, MULTI HEIGHT 1 SEE TABLE

3 D078L13PPO2 PIN, 7.8 X 13 4

4 TMM TOP MOUNTING MECHANISM 1

5 DAM-DMG DOOR MOUNT GUIDE 6

6 90107A011 WASHER, SIZE #10 8

7 90604A269 PAN HEAD SCREW, 10-32 X 3/4 8

8 91772A625 PAN HEAD SCREW, 5/16-18 X 1.25 4

9 9688K311 SNAP-IN PLUG, ALMOND 2

10 TN516 TEE NUT, 5/16-18 X 5/16 4

11 THS516 T HEAD SCREW, 5/16-18 X 7/16 4

12 DAM-DMB DOOR MOUNT BRACKET 4

13 7704CL PLASTIC SHELF LOCKS 8

14 AS8 ADJUSTABLE SHELF, WIDTH 8 2

15 RG RAIL GUARD 4

16 8X0625WPH WOOD PAN HEAD SCREW, #8 X 5/8 8

17 8X0625WFH WOOD FLAT HEAD SCREW, #8 X 5/8 4

18 10X1000WPH WOOD PAN HEAD SCREW, #10 X 1.0" 4

19 90107A030 WASHER, 5/16, OD .75 4

FINISHED GOODS TABLE

PART NUMBER DESCRIPTION ITEM 2

PPO2-860 PANTRY PULLOUT G2, SIZE 860 PWB-860

PPO2-854 PANTRY PULLOUT G2, SIZE 854 PWB-854

PPO2-848 PANTRY PULLOUT G2, SIZE 848 PWB-848

 1 

 2 

 3 

 4 

 7 

 5 

 9 

 10 

 11 

 12 

 13 

 14 

 15 

 16 

 18 

 6 

 17 

 19 

 8 

SHT123

REVEEE

NOTES:
1.  DRAWN IN ACCORDANCE WITH ASME Y14.5M
2.  REMOVE ALL BURRS AND SHARP EDGES
3.  ALL FILLETS AND ROUNDS R 0.05 UNLESS 
    OTHERWISE SPECIFIED

R  E  V  I  S  I  O  N  S

APPROVEDDATEDESCRIPTIONREVECO

A. CHEN08-10-15  INITIAL RELEASE A CC0001

A. CHEN08-14-15  ADDED ITEM 15 AND 16B CC0002 

A. CHEN10-05-15  NEW COMPONENTS ADDED TO BOM TABLECCO-05OCT15-000

A. CHEN10-21-16 ITEM 18 CHANGED TO 1" FROM 1.5"DCO-21OCT16-000

A. CHEN09-25-171. REDUCED SYSTEM HEIGHT BY 33MM.
2. INCREASED VERTICAL HEIGHT ADJUSTMENT.ECO-25SEP17-000

 1 OF 3 SHEET 5:64  SCALE   A308-10-15A. CHEN

E RELEASE LEVEL SIZE DATE APPROVED BY

EPPO2-8---08-10-15A. CHEN

 REV DRAWING NUMBER DATE DESIGNED BY

PANTRY PULLOUT G2
SERIES 8---08-10-15A. CHEN

 DATE DRAWN BY

---||------||---
 TITLE

 FINISH MATERIAL

THIRD ANGLE PROJECTIONUNLESS OTHERWISE
SPECIFIED DIM ARE IN 

MILLIMETERS (mm)

GENERAL TOLERANCES

0.00 - 14.99

15.00 - 39.99

40.00 - 74.99

75.00 - 99.99

100.00 - 199.99

200.00 - 299.99

300.00 -

ANGLE



2 1345678

2 1345678

A

B

C

D

E

F

A

B

C

D

E

F
THE INFORMATION CONTAINED IN THIS DRAWING IS
THE SOLE PROPERTY OF HARDWARE RESOURCES
INC.  ANY REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PREMISSION OF HARDWARE
RESOURCES INC. IS PROHIBITED.

*

 
(H)

1491.6+3-3

58.7+0.1-0.1[ ]
*

 
(H)

1313.6+3-3

51.7+0.1-0.1[ ]
*

 
(H)

1161.6+3-3

45.7+0.1-0.1[ ]

175.9
6.9[ ]

175.9
6.9[ ]

175.9
6.9[ ]

215.9
8.5[ ]

215.9
8.5[ ]

215.9
8.5[ ]

573
23[ ]

573
23[ ]

573
23[ ]

 2 OF 3 SHEET5:64 SCALE     A3

        E RELEASE LEVEL SIZE

EPPO2-8---

 REV DRAWING NUMBER

PPO2-860 PPO2-854 PPO2-848 PPO2-860 PPO2-854 PPO2-848



2 1345678

2 1345678

A

B

C

D

E

F

A

B

C

D

E

F
THE INFORMATION CONTAINED IN THIS DRAWING IS
THE SOLE PROPERTY OF HARDWARE RESOURCES
INC.  ANY REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PREMISSION OF HARDWARE
RESOURCES INC. IS PROHIBITED.

CLEARANCE TO
CABINET BASE

19.6 1 0.77 0.03[ ]

CABINET
VERTICAL
ADJUSTMENT

89 0-89

3.5+0.0-3.5[ ]

( )18 0.7[ ]

PIN 
PROTRUSION

2+0.5-1.0

0.08+0.01-0.03[ ]

DOOR DEPTH AND
TILT ADJUSTMENT

3.3+5 0 0.13+0.19-0.00[ ]

CABINET DEPTH
ADJUSTMENT

60.8+1.0-60.8 2.39+0.03-2.39[ ]

BRAKCET
HORIZONTAL
ADJUSTMENT

45.8 0-45.8

1.8+0.0-1.8[ ]

SECTION  A-A

SECTION  C-C
SCALE  5:32

SEE DETAIL  Z

DETAIL  Z
SCALE  25:48

SECTION  D-D
SCALE  1:4

 8 
 9 

 19 

SECTION  E-E
SCALE  1:1

 5  10 

 11 

 12 

 6 

 7 

SECTION  F-F
SCALE  1:1

 3 

SECTION  B-B
SCALE  1:4

 8  19 

 3 OF 3 SHEET5:96 SCALE     A3

E RELEASE LEVEL SIZE

EPPO2-8---

 REV DRAWING NUMBER


	Sheet 1
	Views
	new_view_18
	new_view_67


	Sheet 2
	Views
	new_view_62
	right_66


	Sheet 3
	Views
	FRONT
	RIGHT
	top_36
	Z
	right_47
	top_52
	top_54
	bottom_69





